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Note : Four possible choices P:, B,C,D to each question are glven. Which choice Is correct, fifl that circle In front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.

The Quadratic Formula is : Pogm Ul YR lﬁUlr
b £V b* + dac o 2 + b2 + dac © b 2 B - ac ®) b + {2 - dac N @
2a 2a 2a 2a
if Ua&Vz,then ; pof UC’QVZ A (2)
2 2 _ - kv 2
uvl=1 (@ UV =K (Q U=KV (B U=V (A
Product of Cube Roots of Unity is S 4 e £ e
3 (O 1 (Q -1 (B 0 (A)
cedc o Juns £ 7Eaxhd =0 =ble o<, P Si@
If o, P are the roots of the equation 7x2- x + 4 = 0 ,then ocF is :
-4 7 -1 4
7 (D) 'Z (C) 7 (B) 7 (A)
If % = —:l— , then Componendo Property is PRI B R % = -% ARG
a _ _¢c a_ _ _ _ ¢ ad a-b _c-d
a+bh c+d(D) a-b c-d © be (B) b = d (A)
If A and B are Disjoint Sets, then AUB is equal to : q..tn A:AUB ¥ ust MJ}‘/A’ B A )7 (6)
BUA (@ ¢ (© B (B A (A
If AcB,then ANB isequal to : . etnids AN B I AcB S (7)
B-A (O @ (© B (B A (A
(x+ 3)2=x2+6x+9 is a s—————— : q_-—--uﬁ(x +3)2=x2+6x+9 t)]
An Equation =il (B) A Linear Equation aiadat (A)
An Exponential Equation :—J;b‘éb’:«; (D)} An Identity s (<C)

Sum of the Deviations of the Variable x from its mean is always —---—
Negative " (D) Same Lokl (O) 0 (B) 1 (A)

£ bt e G A O el ¥ x A S (9)

The value obtained by Reciprocating the Mean of the Reciprocal of Xy, Xy , Xz ,===s Xy
observations is called

Harmonic Mean Lr,i._,ﬁ,T(-' (D) Mode ok (C) Median #-1 (B) Geometric Mean Jﬂlums._n.'lii (A)

A Chord passi;é through the Centre of a Circle is called : : z"_bllz( sihii e Sl (10)
Secant & § (D) Circumference &# (C) Diameter A (B) Radius J (A)
A Line Intersecting a Circle is called : : q.t'l.hr B £ d” e (11)
Diameter # (D) Secant Ui (C) Chord 7 (B) Tangent JV (A)
ol b F UF el g, Xy X o Xy (12)

Tangents drawn at the ends of Diameter of a circle are —— to each other : _

Parallel (3% (D) Non- Parallel d)l?/-f (C) Collinear k37 (B) Perpendicular et (A)

Lyt —e- SART gV é_f'é»’ "y L AL m (13)‘.,.“.‘

A pair of Chords of a Circle subtending two Congruent Central Angles is -
Perpendicular ¥ (D) Parailel $17 (C) Incongruent J‘L?,gf (B) Congruent JE (8)

Lusn — ufgfr‘f' 7} uj’i:_.u:}; n A__JJ)d?} J‘U" »i (14)

| 1-wn'e (D) 1+ ol (C) 1+ Cos’@ (B) 1-5In°© (A) . Sec@ = ——1i (15)
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Note : It is compulsory to attempt{6--6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part I
while Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the question paper.

36=2x18 |Make diagram where necessary. ,uf/hf\f’nduﬁutﬁl (Partt) d,l,,a? gwﬂl’— %u

Solve. by factorization. X2 x-20 =0 EES S Gy 2 A
,u:’,ﬁ'tﬁui’)LL/U’ £ el (i)
Write the names of the methods for solving a Quadratic Equation.
Solve. m= X -éd’ (i)
6x° - 8x +3 =0 -25(3’" u-fJ/' § aibadn » Jnd) (iv)

Find the Discriminant of the given Quadratic Equation. 6x2- Bx + 3 =10

Prove that : Gy = (xry)xrwy)xtwly) S et w
Write the Quadratic Equation having Roots 1,5 _E;CJ.:,I)VL,(JJ » dlsu%.rl .5 (vi)
Define Proportion. S o i
Find a Mean Proportional to 16 and 49. . ..ér:"" u_s.wh:ﬂluj]nu_, ¥ a9 16 (vii)

_ér)-v w o ve 3 2 Ww=2 4 Wd%ﬁ(ix’
v
If wok = and w=2 when v = 3,then find w -

2
'
Define Improper Fraction and give one example. ‘ el 5—‘,9/7 g /...‘al;/:"’_ (i) 34
. . . _x+*3 . N
Resolve into Partial Fractions. (-1)(x+2) _é‘}.'.i S (ii)
Define One - One Function. ) S - on (iii)

by ox 7y =1{4,8,12,—2] o x={2,4,6,-20} /1 ()
If x = {2,4,6,—20} and y = {4,8,12,—24} then find y - x.
1f A={1,2,3}and B={2,5} then find AxB._Z5# AxB 7 B={2,5} w A ={1,2,3} /1 v
_’é_gr)‘“‘ ydE w tMxL I M={3,4} o L={a,b, e} Joi
If L={a,b,c} and M = {3,4} then find two Binary Relations of Mx L
Define Arithmetic Mean. A bl (vii)
203,207,2:5,2:7,2:9,3:1,1-9 2 Wubore Jotur /s bt Lyn 6L bail¥ iy
The sugar contents for a Random Sample of GpackJs of juices of a certain brand are found to be
2+3,207,2+5,2+7,2+9,3-1 and 1-9 Miligram. Find Median. |
4,4:5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,65,7 20" vl atrlcfublerlz Uiz st Yl (i)
Find the Modal Size of shoe for the given Data : 4,4-5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6+5,7

Prove that : {tan® + Cot® ) tan@ = Sec29 S ’{:(c':b (i) 4ﬁ‘UJr
Find " r" when 1 = 52cm , © = 45° 1=52 ¢ ©=45" Jigphk ' 1 qi)
Define Projection. -é-g’/"" J 2 L Wb (i)
Define Minor Arc of a Circle. -2“_:._:;:/'7 J uﬁ."“u'} J 7y (iv)
Define Tangent of a Circle. Al o e w
Define Segment of a Circle, a8 L wiy
Define Circum Angle. s i i
Define Circumscribed Circle, -é_g/‘" J 2 ld (vii)

Py gt ¢ M LAY G

Pracﬁc#lly find the centre of an Arc ABC.
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Solve the equation. xt-13x2+36 = 0 -if esbe (i) 5,4
el oA ¥ Ul £ S L o 43P = 0 bl / ép""'ufd/ T

LY if)'j(\,-(jxid

Find "P" if the sum of the squares of the roots of equatlon ax> +3Px ¥ P:2 0

is unity.

2 2 . ' .
gy B3 --8 ;;_ et nl S SE e () 64w

(x + 37 +(x-5)

Using Componendo - Dividendo theorem solve the -equatioﬁ

(x+3-(x-5)% 4

= e

(x + 3+ (x-5)

(#) Resolve into Partial Fractions. —2‘-:4———2 Y ffuﬁ Moz (W)
(3x+ 2) (x + 1)
U={1,2,3 4,10 } , A={1,3,57,9} #B={1,4,7,20} N1
7/
@ #epend (ANB)=AUE J
If u=1{1,2,3,4,—,10 } yA={1,3,5,7,9},8=1{1,4,7,10}
' 4 4 7/
then verify the (AN B) = AUB
@ -ir:"" qﬁ.ujd;’@u J,-."»/J’bu:u",uéu)’.,,'ug (o)

The Marks of Six Students in Mathematics are as follows. Determine Variance,

AU e /StudentsNo.| 1] 2 [ 3( 4] 5] 6
it/ P/ Marks 60| 70 | 30| 90 | 80 | 42

_ér)# w‘fg J J@&L’f [}l n u: d,f 4_./» 234 dc""f ¥ 6 o3 s CosB® = :—;‘ ﬁ (.__;Jp) 8/.'U|J’

If Cos@= —% and Terminal Arm of the Angle © is in Quadrant I , find

the values of remaining Trigonometric Functions.

onbulp LS g (AU Pl LT ()
In the Circle of Radius 4cm, draw a Square.
Lun S /‘} 03 ¥ unjb"‘}; w Lot Ji J 21:-:4? 9 <
Prove that if two Chords of a Circle are Congruent then they will be

equidistant from the Centre.
OR W
_ugz_m.uﬂgunéw: 2 B (jh_g £l S Eﬁ_:..v.b

Prove that Any two angles in the same segment of a circle are equal

L y—irsery ]
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Note : Four possible choices A,B,C,D to each question are given, Which cheice is correct, fill that circle Infront of that guestion
aumber. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
Twe Linear Factors of X -15x + 56 are : v )‘/gd’-» Ll - 15% + 56 1
{(x-7),(x-8) (D) (x+7),(x-8) (C} (x+7),(x+8) (B) (x+8), (x-7) (A) (1)
The fourth Proportional w of x:y:i:iv:w is : e weeblg U x ry v iwl (2)
X Xy
T ooy © =y B T @
. 2 ) , 2
Roots of the equation 4x™ -d4x+1 = 0 are : Y { u‘L C ax“-4x+1 =0 2bsi (3)
hrational (PtF (D) Imaginary (5¢ (C) Unequal, Real (¥ ¢ Azt (B) Equal,Real (% ¢ s (A)
- dlt o(+P?u.wuju[. 3x2+5x-2 =0 =bi o, p )T @)
If o, p are the roots of the equation 3x2+ 5x -2 =0, then o+ B is
-2 -5 3 5
= O 5 O F (B 5 &)
T 2 1
Iy og—% then : S 4 d“_s A )
X X
2_ 2 2 K 2 1
Fakd o) ¥IX @Y= @Y sy W
X X
The nuinber of Elements in Power Set of { 1,2,3 } is ¢ a‘:,aﬂ Hhas J oLL e ¢{J:'L L { 1,2,3 } (6)
8§ @ 9 (€ 6 (B 4 (A
lnts MR = {(1,3),(2,2).(3,1).(4,4)} S} (7)
The Range of R = {(1,3),(2,2),(3,1),(4,4)} is ‘
{1,3,-4} @ {1,2,3,4} © {3,2,4} @ {1,2,4} (A
+ O~ x+2
Partial Fractions of —*5—22—— are of the form eee- : uzdnJr’ ——q Y —_ 3 {8)
(x+1)(x"+2) (x+1)(x"+2)
Ax+B C A Bx A B A Bx+C
+ D + <) + (B) — +—— (A)
x+1 x2+2 (D) x+1 x2+2 x+1 )(2_’.2 ) x+1 ,(2_,_2
c"..ﬂkf o/ prnld s Urealy k S oty 2 Sk {9)
The observations that divide a Data Set into four equal parts are called
Median .k-s (D} Percentiles #$48 (C) Quartiles 2y (B) Deciles U7 (A)
r_wf ——rt g Ml e _Lﬂu"';’wb’ﬁwruédr" (10)
Locus of a point in a plane equidistant from a fixed point is called ~——weee-
Diameter & (D) Circumference L# (C) Circle b (B) Radius s (A)
q_&n o E L gm L JU J/"" Lo gl (1)
The length of the Diameter of a Circle is how many times the radius of the circle
¢ M 3 (© 2 (B 1 (A
Mean is affected by change in ——-—-—-: - A c_.i.fd’_i' bl | (12)
Place . (D) Origin b/ ('j" (C) Ratio e (B) Value o (A}
uj’qf Ut 6 AL L L (13)
A line which has two points in common with a circle is called
Cosine of a Circle Cosine ¥ « b (B) Sine of a Circle Sine ¥ <7+ (A)
Secant of a Circle Secant ¥ </ (D) Tangent of a Circle Tangent ¥ < Jb (C)
u‘dﬂ e S 2L gl yr d.l\.d‘).l-r- S LT (14)
The Arcs opposite to incongruent central angles of a circle are always -—-—memr—
Perpendicular [1»f {D) Parallel (J1# (C) Congruent Jilia (B) Incongruent Jb—‘/{ (A
5ecOCOLO = — SO D) SO (Q) == (B) == (A} i Sec® Cot® = ~—- (15)

i ' Cos® Cos@ = ' Sin®
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Note : It is compulsory to attempt (6~6) parts each from Q.No.2,3and 4, Attempt any (03) questions from Part II
while .No.9 is compulsory. Write same Question No. and its Part No. as given in the question paper.

36=2x18 F\dake diagram where necessary. LA -ﬂdﬂf'.kﬂt’-l (Parti) d",«" Bwﬂ,o/q L"M

Solve by factorization. sz = 15x _Z:J’ df.f}.@- (i) 2/
Solve by factorization. x2 -x-20=0 -éd’ df._a_u:_u (if)

Solve the given equation by Quadratic Formula. 5x2+ 8x+1 =10 -Ef-:ld’«:..u J Usbdn » PRSI ij; (iif)
ze- 8x + 3 =0 _gpl” ua-@} YN Y (jﬂd; {iv)

Find the Discriminant of the given Quadratic Equation. 6x2-_ 8x +3 =0

Evaluate, {1-3w- 3w2)5 -’égr;"’;wf )
W+ Tx-11 = 0 bl T LS S e i)
Without solving the Quadratic Equation find the Sum of Roots. 3)(2 + 7x -1 = 0
Find " x " in Proportion, §5—7-—1 . —:—: . 2;— :—g' -:’:{()L".:.uf g rxe Lrs (VD)
Find the third proportional of : g , 3a> -Ef_z-‘p"’../ﬁ L (vif)
Define Proportion and give its example, -’&JJL‘/JJ’ M é—yf L«( ol (ix)
Define Identity. _ -254/‘7 J =J: ¥ om Jﬁ‘UV
x -2 . x -2 N
—_— 7 U b sz § ———— i
How can we make Parlial Fractions of T 2i ) UJ«J"CJ Z/)Ufl Gz (x#2)(x73) (ii)
Define Ordered Pairs, -2’:14/". g IR (iil)

gk 2 XOY BoY={2,4,59} 0 X ={1,4,7,9} i ()
If X={1,4,7,9} and Y ={2,4,5,9} then find XN Y.
If A={a,b}and B={c,d} then find BxA . -ép"’BxA mB={c,d}sAa={ab}fiw

Define an Onto Function. 2y § (w“ﬂ ) JEAT i)
Define Mode. ' _éq/"" J il (vii)
Find the Geometric Mean of the observations 2,4, 8. -2_':((}" Lrﬁd;y_ﬁ'l é“‘.( 2,4,8 04 (vil)

i x| 11500, 12400, 15000, 14500 , 14800 (i)
Find the Range of 1150012400, 15000 , 14500 , 14800
Convert '——;—7—\- into Degree. -’q{t}.’—ﬁ.f:dﬁ ! -T'M' @ ‘MU'!’
U S UF el i ¥ 88° ¢ S S e T e e 120 € P 03 G

In a Circle of Radius 12 cm, how long an Arc subtends a Central Angle of 84°7

Define Zero Dimension. -i.g/" g a4 )
Define Circum Circle. -?L:..y/"' J 128 (iv)
Define Tangent. _é_.y/’ J JY w)
Define Sector of a Circle. -éf;.ejj J f‘-p L ab (vi)
Define Tangent of a Circle, -’z:"...y/U JW L e il
Divide an Arcof any length into four equal parts. -ﬁfuj W Urilase S ;..Q J JUJK (viil)

Define a Regular Polygon. Ay § G M (ix)
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@
‘Solve the given equation by Completing Square 2,2 _ 5x - 3 = @

2 2
+ 2y = 22
(4) Solve the Simultaneous Equations, : Y -2':’1}' U'-; Ble a7 ()
5 2 2 _ * .
X"+ y" =29
@ fé.;;b?(a,b,c,d%ﬁ)a:b= c:d /T(Jf)ﬁf.';dlr
3 3
2 2 a 2 2 <
+ =
a b ppan ¢ +d T+ d
If a:b=c:d(a,b,c,d+# 0), then show that
3 3
a® +p? ;2 = Feat: =
a+b c+d
. . , 2+ 7x + 11
(4) Resolve into Partial Fractions. ——y _q_‘/‘):‘fu: »oz (&)
{x+ 2)" (x+ 3}

U={1,2,3,4, 10}, A={1,3,57,9} » B={1,4,7,10} S )74
Eetbers ] (AUBY= AN g 7

)
f U=9{1,2,3,4,—,10},A={1,3,57,9},8={1,4,7,10}

then verify the (AU B)" = A,n B
..épj” Jl/‘.fdj.l.:v..ugd_:_ib» Jf,"ufd‘lpuf(f'j,xéurj‘__)lbg ()

Q)]
The Marks of Six Students in Mathematics are as follows. Determine Standard

Deviation.
AISUH# e /StudentsNo. [ 1 |2 [3 [ 4 |5 |6
i/ Fe / Marks 60 |70 |30 {90 |80 |42

_ér,h»_._‘g{e J J‘G,‘kad“[, s SinB < 0 tan6=% i () 840w

“)
If tan®©=— and Sin®<0 , find the values of other Trigonometric

Functions at ©.
- (4 Jt,l g dﬁ;z:w B s § ABC &AL Us g ()

) .
Circumscribe a Circle about an Equilateral Triangle ABC with each side of
length 4 cm, '
-ujLnJlt"‘(TL U delilifsls o /5‘ 2anl oS éc:z.b 94

(8)
Prove that two Chords of a Circle which are equidistant from the centre are

congruent.
OR W
Ll w L vy d S & sl ,:Ud)’} Uis&'.,z.af.:"u’;" Pyl J( J éo.-a:b
..{.b‘.nb';)

Prove that the measure of a Central Angle of a Minor Arc of a circle is
double that of the angle subtended by the corresponding major arc.

2 1"71‘“"::25&’ ﬁ'.wﬁff"—'-_-_




